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Section A 

This section has a possible 20 marks. 

Answer all questions in the spaces provided. 

1 (a) Identify the piece of equipment used to measure temperature. 

     [1 mark] 

A  Pulse Oximeter 

B  Sphygmomanometer 

C  Stethoscope 

D  Thermometer 

Answer 

1 (b) Identify the type of consent required to carry out this procedure and describe what 
is meant by this type of consent. 

[4 marks] 

Identification 

Description  

Pas
t P

ap
er



D
O

 N
O

T
 W

R
IT

E
 I

N
 T

H
IS

 A
R

E
A

D
O

 N
O

T
 W

R
IT

E
 I

N
 T

H
IS

 A
R

E
A

D
O

 N
O

T
 W

R
IT

E
 I

N
 T

H
IS

 A
R

E
A

D
O

 N
O

T
 W

R
IT

E
 I

N
 T

H
IS

 A
R

E
A

3

Please turn over

For office use only – Paper Code P002213
2

Section A

This section has a possible 20 marks.

Answer all questions in the spaces provided.

1 (a) Identify the piece of equipment used to measure temperature.

     [1 mark]

A Pulse Oximeter

B Sphygmomanometer

C Stethoscope

D Thermometer

Answer

1 (b) Identify the type of consent required to carry out this procedure and describe what
is meant by this type of consent.

[4 marks]

Identification

Description
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1 (c) Statins and inhalers are two medications that have an effect on physiological 
measurements. 

Identify two (2) other medications that have an effect on physiological 
measurements and explain the effects on physiological measurements of one (1) 
of the medications identified. 

[5 marks] 

1 

2  

Explanation 

Question 1 continues on the next page. 
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1 (d) Explain failure of homeostatic balance in thermoregulation. 
[6 marks] 
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1 (d) Explain failure of homeostatic balance in thermoregulation. 
[6 marks]

For office use only – Paper Code P002213
5

1 (e) Identify four (4) structures in the urinary system. 
[4 marks] 

1 

2 

3 

4 

Please turn over for the next section. 
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Section B 

This section has a possible 20 marks. 

Answer all questions in the spaces provided. 

Noah is a 58-year-old man who works as a receptionist in a busy medical centre. Recently 
he has felt generally unwell. Following tests by his doctor, Noah has been diagnosed with 
cardiovascular disease. 

2 (a) Discuss the likely effects of cardiovascular disease on Noah’s wellbeing. 
[12 marks] 
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Section B

This section has a possible 20 marks.

Answer all questions in the spaces provided.

Noah is a 58-year-old man who works as a receptionist in a busy medical centre. Recently 
he has felt generally unwell. Following tests by his doctor, Noah has been diagnosed with
cardiovascular disease.

2 (a) Discuss the likely effects of cardiovascular disease on Noah’s wellbeing. 
[12 marks]
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2 (b) The heart contains four (4) valves that assist it to function correctly. 

Name these four (4) valves. 
[4 marks] 

1 

2 

3 

4 

2 (c) One circulatory pathway is the systemic pathway. 

Name the other circulatory pathway and explain the function of this pathway. 
 [4 marks] 

Name 

Function 
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2 (b) The heart contains four (4) valves that assist it to function correctly.

Name these four (4) valves.
[4 marks]

1

2

3

4

2 (c) One circulatory pathway is the systemic pathway.

Name the other circulatory pathway and explain the function of this pathway.
[4 marks]

Name

Function
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Section C 

This section has a possible 20 marks. 

Answer all questions in the spaces provided. 

3 (a) Discuss the likely effects of eczema on Chloe’s social and emotional wellbeing. 
[9 marks] 

Chloe is a 20-year-old woman who works as a healthcare support worker. Following a 
recent holiday abroad, she noticed patches of red and flaky skin all over her body. 
Following tests with a dermatologist, she has been diagnosed with eczema. 
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Section C

This section has a possible 20 marks.

Answer all questions in the spaces provided.

3 (a) Discuss the likely effects of eczema on Chloe’s social and emotional wellbeing. 
[9 marks]

Chloe is a 20-year-old woman who works as a healthcare support worker. Following a
recent holiday abroad, she noticed patches of red and flaky skin all over her body.
Following tests with a dermatologist, she has been diagnosed with eczema.

For office use only – Paper Code P002213
11

3 (b) The subcutaneous is one of the primary layers of the skin. 

Name the two (2) other primary layers of the skin and describe the structure and 
/ or function of one (1) of the layers named.  

 [5 marks] 

1  

2  

Description Pas
t P

ap
er
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3 (c) The ovaries and vagina are two structures of the female reproductive system. 

Name two (2) other structures of the female reproductive system. 
 [2 marks] 

1 

2 

3 (d) Name the two (2) hormones produced by the ovaries and explain the function of 
one (1) of the hormones named. 

 [4 marks] 

1  

2  

Explanation 

Pas
t P

ap
er



D
O

 N
O

T
 W

R
IT

E
 I

N
 T

H
IS

 A
R

E
A

D
O

 N
O

T
 W

R
IT

E
 I

N
 T

H
IS

 A
R

E
A

D
O

 N
O

T
 W

R
IT

E
 I

N
 T

H
IS

 A
R

E
A

D
O

 N
O

T
 W

R
IT

E
 I

N
 T

H
IS

 A
R

E
A

13

Please turn over

For office use only – Paper Code P002213
12

3 (c) The ovaries and vagina are two structures of the female reproductive system.

Name two (2) other structures of the female reproductive system.
[2 marks]

1

2

3 (d) Name the two (2) hormones produced by the ovaries and explain the function of 
one (1) of the hormones named.

[4 marks]

1

2

Explanation
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Section D 

This section has a possible 20 marks. 

Answer all questions in the spaces provided. 

4 (a) Which one (1) of the following is a muscle in the human body? 

     [1 mark] 

A  Femur 

B  Patella 

C  Quadricep 

D  Tendon 

Answer 

4 (b) One type of muscle is smooth muscle. 

Name the other two (2) types of muscle and describe one (1) of the types of 
muscle named. 

     [4 marks] 

1  

2  

Description 
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Section D

This section has a possible 20 marks.

Answer all questions in the spaces provided.

4 (a) Which one (1) of the following is a muscle in the human body?

     [1 mark]

A Femur

B Patella

C Quadricep

D Tendon

Answer

4 (b) One type of muscle is smooth muscle.

Name the other two (2) types of muscle and describe one (1) of the types of
muscle named.

     [4 marks]

1

2

Description
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4 (c) Explain how the structures and characteristics of a synovial joint assist its 
function. 

[6 marks] 
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4 (d) The skeletal system can be separated into two specific sections of skeleton. 

Name these two (2) sections of the skeletal system. 
 [2 marks] 

1 

2 

4 (e) Name the response mechanism activated by stress and explain the effect it can 
have on physiological measurements. 

[3 marks] 

Response mechanism 

Explanation 
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4 (d) The skeletal system can be separated into two specific sections of skeleton.

Name these two (2) sections of the skeletal system.
[2 marks]

1

2

4 (e) Name the response mechanism activated by stress and explain the effect it can
have on physiological measurements. 

[3 marks]

Response mechanism

Explanation 
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4 (f) The skin helps the body cool when it gets too hot. 

Identify two (2) mechanisms in the skin that help the body cool and explain how 
one (1) of the mechanisms identified achieves this.  

[4 marks] 

1  

2  

Explanation 

This is the end of the external assessment. 
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To be completed by the examiner 

Question Mark Question Mark 

1 (a) 3 (b) 

1 (b)  3 (c) 

1 (c)  3 (d) 

1 (d)  4 (a) 

1 (e) 4 (b) 

2 (a) 4 (c) 

2 (b) 4 (d) 

2 (c) 4 (e) 

3 (a) 4 (f) 

TOTAL 
MARK 
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